Homework Problem 1
Fayazmanesh
                                                    Name: ____________________
The table below shows David Ricardo’s two capitalists employing labor and capital to produce goods X and Y. Assume that the wage rate is $1.5 per hour of labor and profit rate is 50%.

	
	X producer
	Y producer

	Labor input


	20 current hours of labor
	70 current hours of labor

	Capital input
	40 past hours of labor (one period ago)
	20 past hours of labor (one period ago)


a. Calculate value of capital input for each capitalist.

b. Calculate the value of each good X and Y. How many units of Y would exchange for a unit of X? 

Suppose the wage rate increases to $2/hour of labor and, as a result, the profit rate declines to 20%. Re-do parts a and b.

a. 

b. 
